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1. Onebranch

\putbranch(50,240) (1,-2) [d]1{100}
\ib[linecolor=gray]l{1}{$A$}[$1,1$]:
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\putbranch(50,240) (0,-2) [d] {100}
\ib{1}{$A$}[$1,18]:
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\putbranch(50,240) (-1,-2) [d]{100}
\ib{1}{$A$}[$1,1%]:

\putbranch(0,40) (1,0) [d]1{100}
\ib{1}{$A$} [$1,1$]:
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\putbranch(50,0) (1,2) [u]{100}
\ib{1}{$A$}[$1,1$]:

\putbranch(50,0) (0,2) [u] {100}
\ib{1}{$A$}[$1,1$]:
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\putbranch(50,0) (-1,2) [ul {100}
\ib{1}{$A$}[$1,1$]:



\putbranch(0,40) (1,0) [u]{100}
\ib{1}{$A$}[$1,1$]:
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\putbranch(50,0) (1,2) [r]{100}
\ib{1}{$A$}[$1,1$]:
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\putbranch(50,0) (0,2) [r]{100}
\ib{1}{$A$}[$1,1$]:
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\putbranch(50,240) (1,-2) [r]1{100}
\ib{1}{$A$}[$1,18]:

\putbranch(0,40) (1,0) [r]1{100}
\ib{1}{$A$}[$1,18]:
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\putbranch(50,0) (1,2) [1]1{100}
\ib{1}{$A$}[$1,1$]:
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\putbranch(50,0) (0,2) [1]1{100}
\ib{1}{$A$}[$1,18]:
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\putbranch(50,240) (-1,-2) [1]1{100}
\ib{1}{$A$} [$1,1$]:
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\putbranch(0,40) (-1,0) [11{100%}
\ib{1}{$A$}[$1,18]:
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2. Two branches

\putbranch(50,240) (2,-1) [d] {200}
\egalhshift=20
\iib[linecolor=red] [1{1}{$A$}{$B$}[$1,1$] [$2,2%]:



\putbranch(50,240) (2,0) [d]{200}
\iib[linecolor=gray]{1} [c]{$A$}{$B$} [c] [$1,1$] [$2,28]:
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\putbranch(50,240) (0,2) [d] {200}
\iib[linecolor=gray]{1}[c]{$A$}{$BS}[$1,1$] [$2,28]:
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\putbranch(50,120) (2,1) [u]{200}
\iib[linecolor=gray] [linestyle=dashed] {1} [c]{$A$}{$B$} [c] [$1,1$] [$2,2%]:
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\putbranch(50,240) (2,0) [u] {200}
\iib[linecolor=grayl{1} [c]{$A$}{$B$} [c] [$1,1$] [$2,2%]:
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\putbranch (50,240) (0,2) [u]{200}
\iib[linecolor=gray]l{1} [c]{$A$}{$B$}[c] [$1,1$] [$2,28]:
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\putbranch(50,150) (2,1) [r]{200}
\iib[linecolor=gray] [linestyle=dashed] {1} [c]{$A$}{$B$} [c] [$1,1$] [$2,2%]:
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\putbranch (50,240) (2,0) [r]{200}
\iib[linecolor=grayl{1} [c]1{$A$}{$B$} [c] [$1,1$] [$2,2%]:
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\putbranch(50,180) (0,2) [r]{200%}
\iib[linecolor=gray]l{1} [c]{$A$}{$B$} [c] [$1,1$] [$2,2%]:
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\putbranch(50,240) (2,1) [1]1{200}
\iib[linecolor=gray]l{1} [c]{$A$}{$B$} [c] [$1,1$] [$2,2%]:
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\putbranch(50,240) (2,0) [11{200}
\iib[linecolor=gray]l{1} [c]{$A$}{$B$}[c] [$1,1$] [$2,28]:
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\putbranch (50, 180) (0,2) [11{200}
\iib[linecolor=gray]{1} [c]{$A$}{$B$}[c] [$1,1$] [$2,28]:
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3. Continuum of branches

\putbranch(50,240) (2,-1) [d]1{200}
\ctmb{1}(1,1){$A$}[$2,2%]:
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\putbranch(50,240) (2,-1) [d]1{200}
\ctmb{1}(-1,1){$A$}[$2,2%]:



\putbranch (50,240) (2,-1) [d1{200}
\ctmb{1}(1,-1){$A$}[$2,2%]:

\putbranch(50,240) (2,-1) [u] {200}
\ctmb{1}(1,1) {$A$}[$2,28]:
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\putbranch(50,240) (2,-1) [u] {200}
\ctmb{1}(-1,1){$A$}[$2,2%]:
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\putbranch(50,240) (1,-2) [r]1{100}
\ctmb{1}(1,1){$A$} [$2,28]:
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\putbranch(50,160) (1,-2) [r]{100}
\ctmb{1}(1,-1){$A$}[$2,2%]:
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\putbranch(50,160) (1,-2) [11{100}
\ctmb{1}(1,1){$A$}[$2,28]:
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\putbranch(50,120)(1,—2)[1]{100}
\ctmb{1}(1,-1){$A$}[$2,2%]:
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4. Three branches

\putbranch(50,240) (2,-1) [d] {200}
\iiib[linecolor=red] {1}{$A$}I{$BSIH{$CS}[$1,18] [$2,2%] [$3,3%]:
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\putbranch(50,240) (2,1) [u]{200}
\iiib[linecolor=grayl{1}[c]{$A$}I{$BSI{$C$}[$1,1$] [$2,2%][$3,3%]:
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\putbranch(50,240) (2,1) [r]{200}
\iiib[linecolor=grayl{1}[c]{$A$}I{$BSI{$C$}[$1,18] [$2,2%][$3,3%]:
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\putbranch(50,240) (2,1) [1]1{200}
\iiib[linecolor=gray]{1}[c]{$A$}{$B$}{$C$} [$1,18] [$2,28] [$3,38]:
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5. Information sets

\putbranch(50,240) (2,1) [1]1{200}
\iib[linecolor=grayl{1}[c]{$A$}{$BS}[$1,1$] [$2,2%]
\infoset (0,140){400}{2}:

\putbranch(50,240) (2,1) [11{200}
\iib[linecolor=gray]{1}[c]{$A$}{$B$}[$1,1$] [$2,2$]
\infoset(0,100){400}{2}:

1
\putbranch(0,240) (2,1) [r]1{200}
\iib[linecolor=gray]{1}[c]{$A$}{$B$}[$1,1$] [$2,2$]
\infoset(200,30) [v]1{230}{2}:
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\putbranch(400,140) (2,1) [1]1{200}
\iib[linecolor=gray]{1}[c]{$A$}{$B$}[$1,1$] [$2,2$]
\infoset (200,40) [v]{230}{2}:
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6. Shifts

6.1 Directiond

\egalhshift=40

\egalhshift=-40

\egalvshift=20
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6.2 Direction u

\egalhshift=40

\egalhshift=-40
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6.3 Directionr

\egalhshift=60
- 1,1
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\egalvshift=40
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